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DO000000000000 Passage: Were Earth to be
juxtaposed with the Great Red Spot, our planet would be dwarfed in
comparison, with a diameter less than half that of the Great Red Spot
O 00000 Question: Which of the sentences below best
expresses the essential information in the highlighted sentence in the
passage? Incorrect choices change the meaning in important ways or
leave out essential information. O The density of the Great Red Spot
IS much higher than that of the Earth. O If the diameter of the Great
Red Spot were doubled, it would equal that of the Earth. O By
placing the Earth next to the Great Red Spot, one could see that the
Earth has a much smaller diameter. O Because the Earth is close to
the Great Red Spot, Earth is influenced by its huge size. I [0 [J [0 [
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Directions: Select the appropriate phrases from the answer choices



and match them to the type of organism to which they relate. Two of
the answer choices will NOT be used. This is worth 4 points. Drag
your answer choices to the spaces where they belong. To remove an
answer choice, click on it. To review the passage, click on View Text.
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